AU RN NN

s ddddddaaaaaaaaad

) N

LdaY i3 )

22=J «— 132=J6-1
10=w «—3 = 0.3-2
5=y +— 75=015-3
11.14=a *— 78=a7-4
0.08=we +——12=0u144 -5

16 =8  «— 64=d4-6

Al J)s )

8= 72=ua9-1(i

8G3J\J\x2é5x1'[=egal\(g
gWi ¥ x 400 x 3.14 = 6290
gWwiY x 1256 = 6290

2 0.19 =gl Y

gy g )

360 —-(95+70+90)-1(}

105 = 360 - 255

360 - (60 + 115 +115) -2
70 =360 - 290

XXX /@m\ M\ @.u"“

NN

Ll ddddddddddddaaaaaaad



AU RN NN

Li50 «—— w450 (w
Lf20 «— ¢

20%450

L2180 = -

Y s )

{ (9:9):(6:9)«(3:9)(9:6):(6:6):(3:6):(9:3)(3:6)«(3:3) } -1 (]
{(9‘3)c(6‘3)c(3‘3) }= -2

{(9:9):(9:6)(9:3) }=¢ -3
{(9:9)(9:6)(9:3)(9:3):(6:3)+(3:3) }=1¢ -4

(<
LAk 58 -1

A 156 -2
.4d 203 -3

LAk 210 4

b gl g ladlly oSl Aluial aa
3 o) daa & Ay

s ddddddaaaaaaaaad
Ll ddddddddddddaaaaaaad

NN



